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BresenhamMichener-1.c

#include <GL/glut.h>
#include <math.h>
#include <stdlib.h>

int width=600, height=600; // Initial window size

void ploti(int x, int y) {
glBegin(GL_POINTS); glVertex2i(x,y); glEnd();
}

void Tline(int x1, int y1, int x2, int y2) {
int dx, dy, d, e, x, y;
dx = x2 - x1; dy =y2 - yl1; d=2%*dy;
e =-dx; x=x1; y=yl;
while (x < x2) {
ploti(x, y);
+X;
e += d;
if (e >0) {
++y;
e -= 2 * dx;

}

void octant(int r) {
int x, y, d;
x=0;, y=r; d=3-2*%r;
while (x < y) {
ploti(x, y);

if (d<0){
d += 4*x + 6;

} else {
d += 4*(x-y) + 10;
-y

}

X

}

void display(void) {
int i,x,y,x2;
double a=1.99239, u=0., v=0.087156, w;
double p=1., 9=0.99619, r, m=400.;

glClear(GL_COLOR_BUFFER_BIT);
line( 0,0, (int)m,0 );
line( 0,0, (int)(m*q), (int)(m*v) );
for( i=5; i<45; i+=5 ){
w=a* -u; r=a*q-p;
x = (int)(m*r); y = (int)(m*w); 1line( 0,0,x,y );
usviv=wp=9 g=r;
}
for( 1=20; i<=400; i+=20 ) octant( i );
glutSwapBuffers();
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void myinit(void) {
glClearColor (1.0, 1.0, 1.0, 0.0); // background color
glColor3f(0.,0.,0.); // drawing color

}

void reshape(int w, int h) {
h=(th==0)?1:h;
glViewport(0, 0, w, h);
glMatrixMode(GL_PROJECTION);
glloadIdentity();
width = w; height = h;
glOrtho(-100.,width-101.,-100.,height-101.,-1.,1. );
glMatrixMode(GL_MODELVIEW);
}

void keyboard(unsigned char key, int x, int y) {
switch (key) {
case 27: /* ESC code */
case 13: case 10: exit(0); /* RETURN code */
default: break;

}

int main(int argc, char** argv) {
glutInitWindowSize (width, height);
glutInitWindowPosition (10, 10);
glutInit(&argc, argv);
glutInitDisplayMode (GLUT_DOUBLE | GLUT_RGB);
glutCreateWindow (argv[0]);
myinit();
glutDisplayFunc(display);
glutReshapeFunc(reshape);
glutKeyboardFunc(keyboard);
glutMainLoop();
return 0;
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BresenhamMichener-2.c
#include <GL/glut.h>
#include <math.h>
#include <stdlib.h>
int width=600, height=600;
void ploti(int x, int y) {
glBegin(GL_POINTS); glVertex2i(x,y); glEnd();
}

void Tlinei(int x1, int y1, int x2, int y2) {
int absx2, absy2, d2, x, y, d, e, tmp, flag = 0;

X2 = x2 - x1;
y2 = y2 - y1;
X2 < 0 ? (absx2 = -x2) : (absx2 = x2);
y2 < 0 ? (absy2 = -y2) : (absy2 = y2);

if (0 <= x2 88 0 < y2 88 absx2 < absy2) {
tmp = x2; x2 =vy2; y2=+tmp; flag = 1;

} else if (0 > x2 & 0 < y2 8&& absx2 <= absy2) {
tmp = x2; x2 =y2; y2=-tmp; flag = 2;

} else if (0 > x2 & 0 <= y2 8&& absx2 > absy2) {
x2 = -x2; flag = 3;

} else if (0 > x2 & 0 > y2 8&& absx2 >= absy2) {
X2 = -x2; y2 = -y2; flag = 4;

} else if (0 >= x2 & 0 > y2 8&8& absx2 < absy2) {
tmp = x2; x2 = -y2; y2 = -tmp; flag = 5;

} else if (0 < x2 & 0 > y2 8&& absx2 <= absy2) {
tmp = x2; x2 = -y2; y2 = tmp; flag = 6;

} else if (0 < x2 & 0 > y2 && absx2 > absy2) {
y2 = -y2; flag =7;

}

d2 =2 * x2;

x=0; y=20;
d=2%*y2;, e=-x2;

switch (flag) {

case 0:

while (x < x2) {
ploti(x1 + x, y1 +y); ++x; e +=d;
if (e > 0) { ++y; e -=4d2; }

}

case 1:

while (x < x2) {
ploti(xT + vy, y1 + x); ++x; e +=d;
if (e > 0) { ++y; e -=4d2; }

}

case 2:

while (x < x2) {
ploti(x1 -y, y1 + X); ++x; e +=d;
if (e > 0) { ++y; e -=4d2; }

}

case 3:

while (x < x2) {
ploti(x1 - x, y1 +y); ++x; e +=d;
if (e > 0) { ++y; e -=4d2; }
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case 4:

while (x < x2) {
ploti(x1 - x, y1 - y); ++x; e +=d;
if (e >0) { ++y; e -=4d2; }

}

case 5:

while (x < x2) {
ploti(x1 -y, y1 - x); ++x; e +=d;
if (e >0) { ++y; e -=4d2; }

}

case 6:

while (x < x2) {
ploti(xT + vy, y1 - x); ++x; e +=d;
if (e >0) { ++y; e -=4d2; }

}

case 7:

while (x < x2) {
ploti(xT + x, y1 - y); ++x; e +=d;
if (e >0) { ++y; e -=4d2; }

}

void circlei(int x0@, int y@, int r) {
int x, y, d;
x=0;, y=r; d=3-2*r,
while (x <y) {

ploti(x0 + x, y0 + y);
ploti(x0 + vy, y0 + x);
ploti(x@ -y, y0 + x);
ploti(x0 + x, y0 - y);
ploti(x@ - x, y0 - y);
ploti(x@ -y, y0 - x);

ploti(x@ + y, y0 - x);
ploti(x@ - x, y0 + y);

if (d<0){
d += 4*x + 6;

} else {
d += 4*(x-y) + 10;
-y

}

X

}

void display(void) {
int i,ix,iy, ix1,iy1;
double t;

glClear(GL_COLOR_BUFFER_BIT);
for( i=0; i<16; i++ ){
t = (float)i*22.5*3.1415926545867932/180.;
ix = (int)(300.*cos(t)) + width/2;
iy = (int)(300.*sin(t)) + height/2;
linei( width/2, height/2, ix, iy );

}
circlei( width/2,width/2,width/2 );
glutSwapBuffers();
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void myinit(void) {
glClearColor (1.0, 1.9, 1.0, 0.0);
glColor3f(0.,0.,0.);

}

void reshape(int w, int h) {
h=(th==0)7?71:h;
glViewport(0, 0, w, h);
glMatrixMode(GL_PROJECTION);
glloadIdentity();
width = w-1; height = h-1;
glOrtho( 0.,width, 0.,height, -1., 1. );
glMatrixMode(GL_MODELVIEW);

}

void keyboard(unsigned char key, int x, int y) {
switch (key) {
case 27: // ESC code
case 13: case 10: exit(0); // RETURN (Enter) code
default:break;

}

int main(int argc, char** argv) {
glutInitWindowSize (width, height);
glutInitWindowPosition (10, 10);
glutInit(&argc, argv);
glutInitDisplayMode(GLUT_DOUBLE | GLUT_RGB);
glutCreateWindow (argv[0]);
myinit();
glutDisplayFunc(display);
glutReshapeFunc(reshape);
glutKeyboardFunc(keyboard);
glutMainLoop();
return 0; 00 0O ./a.out
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Excercise BresenhamMichener-3.c
BresenhamMichener-2.c& 12— U TdisplayF@DHESTRX DT, displayBaHLANIEIET B,

void display(void) {
int i,ix,iy, ix1,iy1;

double t;

glClear(GL_COLOR_BUFFER_BIT); /1l UTFOITOHESTBRZZ,

for( i=0; i<16; i++ ){ // BresenhamMichener-2.c NI—K%
t = (float)i*22.5*3.1415926545867932/180.; // AXVICERHT B,
ix = (int)((width/2)*cos(t)) + width/2; // ix = (int)(300.*cos(t)) + width/2;
iy = (int)((width/2)*sin(t)) + height/2; // iy = (int)(300.*sin(t)) + height/2;
linei( width/2, height/2, ix, iy );

}

circlei( width/2,height/2,width/2 ); // circlei( width/2,width/2,width/2 );

glutSwapBuffers();
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